

# We have prepared a quote for you

**Museum Switching & Wireless** 

Quote # CCCP013371 Version 1

# Prepared for:

**Manitowoc Public Utilities** 

Keith Lyons klyons@mpu.org



#### Hardware

Product Details		Qty	Price	Ext. Price
Aruba AP-615 Tri Band 802.11ax 3.60 Gbit/s Wireless Access Point - Indoor - 2.40 GHz, 5 GHz, 6 GHz - Internal - MIMO Technology - 1 x Network (RJ-45) - 2.5 Gigabit Ethernet - Bluetooth 5 - Ceiling Mountable	aruba	5	\$683.00	\$3,415.00
Aruba AP-567 802.11ax 1.73 Gbit/s Wireless Access Point - 2.40 GHz, 5 GHz - MIMO Technology - 1 x Network (RJ-45) - Gigabit Ethernet - Bluetooth 5 - 15.60 W - Wall Mountable, Ceiling Mountable, Pole-mountable	oruba	1	\$996.00	\$996.00
Aruba Mounting Bracket for Wireless Access Point	-74	3	\$19.00	\$57.00
Aruba Mounting Bracket for Wireless Access Point	7	2	\$22.00	\$44.00
HPE Mounting Bracket for Wireless Access Point		1	\$80.00	\$80.00
Aruba 6200F 48G Class4 PoE 4SFP+ 370W Switch - 48 Ports - Manageable - 3 Layer Supported - Modular - 370 W PoE Budget - Twisted Pair, Optical Fiber - PoE Ports - Lifetime Limited Warranty		2	\$4,948.00	\$9,896.00
Tripp Lite 6U Wall Mount Low Profile Secure Rack Enclosure Cabinet Vertical - For LAN Switch, Patch Panel - 6U Rack Height20" Rack Depth - Wall Mountable - Black - Steel - 149.91 lb Maximum Weight Capacity - 149.91 lb Static/Stationary Weight Capacity		2	\$564.00	\$1,128.00
Tripp Lite 48-Port Cat6 Cat5 Patch Panel Rackmount 110 Punch Down RJ45 Ethernet 1URM 568B - 2U, 19" Rack Width		2	\$133.00	\$266.00
1ft (0.3m) Cat6 Snagless Unshielded (UTP) Ethernet Network Patch Cable - Blue		100	\$4.00	\$400.00

Subtotal: \$16,282.00

### **Professional Services**

Description	Price	Qty	Ext. Price
Labor - Installation & Configuration of Aruba Wireless	\$190.00	6	\$1,140.00

Quote #CCCP013371 v1 Page: 2 of 4

529 N. Monroe Avenue Green Bay, WI 54301 www.cccp.com



### **Professional Services**

Description	Price	Qty	Ext. Price
Labor - Installation, Configuration & Documentation of Aruba Switching	\$190.00	8	\$1,520.00

Subtotal: \$2,660.00



# Museum Switching & Wireless

#### Bill To:

#### **Manitowoc Public Utilities**

Keith Lyons 1303 South 8th St Manitowoc, WI 54220 (920) 686-4359 klyons@mpu.org

#### Ship To:

#### **Manitowoc Public Utilities**

Keith Lyons 1303 South 8th St Manitowoc, WI 54220 (920) 686-4359 klyons@mpu.org

#### **Quote Information:**

Quote #: CCCP013371

Version: 1

Delivery Date: 04/21/2023 Expiration Date: 05/20/2023

Sales Rep: Jeremiah Dorn jeremiah.dorn@cccp.com

## **Quote Summary**

Description	Amount
Hardware	\$16,282.00
Professional Services	\$2,660.00

Total: \$18,942.00

IMPORTANT: Any legal document should refer to us as ACP CreativIT, LLC d/b/a Camera Corner Connecting Point or CCCP.

Additionally, all deliveries, especially LFD (Large Format Displays)/TV's, need to be opened, turned on and inspected thoroughly for concealed damage within 5 days of receipt to ensure full value replacement.

Orders converted from this quote, as authorized by the customer, acknowledges the customer has read our Return Policies and Conditions located on the Company Info page of the Camera Corner/Connecting Point website www.cccp.com

Please note: Quotes do not reflect tax. Shipping, handling, and other fees may apply. Contact your Account Executive with any questions. We reserve the right to cancel orders arising from pricing or other errors.

Quote #CCCP013371 v1 Page: 4 of 4